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Ql (a)

(b)

Actuaries apply scientific principlc and techniques to problerns involvingrisls and

others. List out the other two problems which involve actuaries.
(2 marls)

Describe the meaning of term insururce- Also, clari& the advurtage of convertible
term insurance.

(6 mrls)

Consider a new eNfrant to a life insurance where the benefit is payable on death.

Analyze the mqior risk for the insurance company. Justify your answer.
(c)

(3 marls)

(d) Actuarial science has developed its owr notation for survival probabilities and

mortality prob abilities.

Formulate tre meaning of ttrese sent€nces to actuarial notations.

(i) The probability that (u) dies before age u + x.

(ii) The probabiltty thd (z) survives to at least age u + x.

(iii) The probabillty that (z) survives f years, and dies in the subsoquent x )'ears.
(6 marls)

(e) On the basis of the application and supporting medical informatiorU potential life
policyholders will generally be cdegori znd mto four different groups. Determine the

four groups md elaborate each group oonsiderably 
(g marks)

r-rli
Q2 Let,Ss(t)=[I\ 100,1 

'

(a) Determine the implied limiting ege, t.

(b) Calculce to five decimal Places,

(i) fre probabilrtythat anewbom life survives beyond age25,
(ii) the probability that a life aged 25 dies before age 55,
(iiD the probability that a life aged 35 survives beyond age70,
(iv) the force of rnortality at age 60.

(5 mads)

QO marks)
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Q3 (a) An insururce on a life ageA25 pays a sum of RM 7O25 onsurvival to age 60. Based

on6o/o annual rate of interest,

(i) determine Ao,r\1,

(ii) frnd tre present value ofthe insurancg
(iii) revise the standard deviation of the insurance.

(10 marks)

A whole life insruance with a sum insured RM 4275 payable at the momqrt of death

is taken out by a person agpd 30. Using a6Yo uturrual interest,

(i) find 

^,(ii) determine the present value of the insurance,

(iiD revise the standard deviation.
(10 mad{s)

(c) A person aged ,10 bqa an mnuity-immedi4e of RM 5550 per arnum, whose

payments start at the end of year l0 ard go on for 20 years, while the insured is still
alive. gased on 6%omnual rate of interest, produce the present value of the annurty.

(5 marks)

e4 (a) The net premiums are determined by two factors uihich are beyond the control of an

insurance company. List out the two factors.
(3 marls)

(b) The following insursrce is issued to a life aged 40. If the insured dies within 20

years, a deafi benefit of RM ?000 is payable at dre end of the year of death-

Otherwise, a sgm of RM 3000 is payable yedy in advarce from the age of 60- By

6%o annual rafie ofinterest

(t daermine A'*"01,

(ii) ftnd' 
^lii*.(iii) Finally, calculate the net single premium for the insurance.

(12marts)

(c) A person aged 35 takes out a 20 year pure endowment insurance of RM 45000.

Based on6i/omnual rate of interest, determine the annual premiurn
(10 marls)

(b)
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